Star Public School

Dear Parents'

Today's assignment

Maths - Chapter 5
English - Chapter 7 question answer

Janmashtami celebration

Home assignment

Maths - Do practice of division

English - Learn questions and answers of
chapter 7 Edited 12:53 PM v/
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she finds that no flower pot is left with her now. '
g-5= 0
Kinjal has arranged all 1

he has divlded 10 ﬂower po

0 flower pots equally in 5 rows in the garde
n.

s ts in 5 groups. Each g‘.roup has 2 flowe,
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The process of dividing something into small equal groups is called dnn

The symbol =" is used for division.
10 + 5 =2 is read as 10 divided by 5 is equal to 2.

10 = 5 = 2
i) i é,
Total Number of Number of objects to be
number of objects groups put in each group

o Divide the objects equally among given number of people by formingg,%
(a) 18 cans among 6 girls (b) 14 sp!nners among 7 Chl|dreq
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(c) 16 candles among 8 people (d) 20 balls among 5 boys
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Repeﬂted Subtraction

Repeated cubtraction is a method of performing division. While performinc
division: we are actually doing repeated subtraction and the answer to th;“t
division problem s how many times we subtract the same number

Look at the following example. .
ghivani has 16 leaves. She wants to paste these leaves equally on 8 pages. ‘
cirst she pastes 1 leaf an each page. 16-8=8
Then she pastes 1 more leaf an each page. 8 B
Thus, she pastes 16 leaves on 8 pages. 168 B uh

We can also say that <he subtracts 8 two times from 16 to divide the leaves.

Therefore, 16 % 8 =2

properties of Division

., On dividing any number by 1, the m
answer is the number itself. * Fillin the boxes.

14+1=14 (@) 18-2-2—2-2—2-24-2—2'
. No number can be divided by 0. | =\ |g (A 1=l 9
9 + 0 is not possible.

. On dividing any number by itself,
the answer is 1l

1M1 +11=1

. On dividing 0 by any number, the answer is 0.
0+8=0

. We can divide any number ending in 0 (except 0) by 10.
70+ 10=7

(b) 28-4-4-4-4-4-4-4

=|2.8 )+ 4 )=l 7))

e Divide the following using repeated subtraction.

\

@) 32+4=( ¥ ) (b) 64 +8=( & ) anso=( q |

o Fill in the blank boxes.
@) 0+ 12 ={\c\\% bt =

\

16

@ 10+10=| | d) 120+ 10 ={\2
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Long Division Method
Let’s divide 35 by 7 using long division method,

(¥ ]

Write the numbers as shown.

Sxe DIVIsorLaiy iy Qg
Then use the multiplication table of 7 to 7) 38 |
find the quotient. As 7 x 5 = 35, 50 5 js ~ 35 By
the quotient. Write 35 below the dividend “\0\
and subtract. el
e The number which we divide is called
the dividend. [N e p roblems, divide
: o -fqrpumberofobjECtStObndFt?M
 The number by which we divide is  Divisor stands foy numbeed""dec:
called the divisor. | groups into which Objerqs N
 Theanswerwe getis called the quotient | :erig\gf i Quo-ﬁem Sy
‘ | ObjeCtS IN each grgu;&

Therefore, 35 + 7 = 5.

o Divide using long division and write the quotient,
(a) (b)

| () d
9 ﬁ 8 & é
7) 14 5 ) 5 6) 48 4)u
-8 - Ys - Yg _
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Word Problems e,
Keep in Mind
Carefully read the given word problem. To indicate division, following wos

Surbhi has 24 chocolates. She wants can be used.
to give equal number of chocolates Share im?;
to 6 children. How many chocolates something (NGO |
will each child get? equally. @) ol
N £ o
J

For the Teacher
Always emphasise on the word ‘equal’ while stating word problems.
/




umber of chocolates = 24

Num

Numb

ber of children = 6
er of chocolates each child will get = 24 = ¢ — 4

Therefore, each child will get 4 chocolates.

@ solve the given word problem:s.

(a) Mansi’s mother made 36 pancakes. She distributed

them equally among 6 members of the family. How
many pancakes did each family member get?

/'— *\ oS
[——\ \\
36+ 6 =& )

Each member gotu é | pancakes.

A squirrel has 12 peanuts. She wants to distribute
these peanuts equally among her 3 babies. How many
peanuts does each baby squirrel get?

[o)(a)- (80

P T

Each baby squirrel gets | HJ peanuts.

(

Skills Covered: Critical and logical thinking, Problem-solving, Brainstorming

Think, Solve and Learn

Ritu got 12 soft drinks for 5 of her friends. By mistake 2 soft drinks dropped. She distributed
the remaining soft drinks equally among her friends.

7 o

How many soft drinks did each of her friend get? 'L /1

e/




action Correct the numbers in the Clrcles Where\,e

1. Divide by repeated subtr
" U (2.5 (232 1 (2); @_

@ 16 +2=| 2 |

é48©(>()(8)(€j(8)

5. Write the division facts for the following multiplication facts.
- S LA -

f- _.‘: P = -WI J .:; i_‘ . | - ;:‘

(@) 7x8=56 (56— S

(b) 48 + 8=

o

O

(b) 9x3=27 | 21 f? = .0 A

3. Divide the follwvw?d&:btramon on a number line,

@) 12=2 < {
GusTil8nt9 10,1,1_\1\2 13 1445

3 45
/r——\‘/ :\"’/ “J’/‘ + F\\/\
5

O 8 9 1011 12 13 14151617]E

(b)18+3‘6 e
4. Solve the following word problems.
(a) Dhruv has 21 balloons. He wants to divide them equally with three of hjs figy
How many balloons does each of them get? :

—

Total number of balloons = ) ]
p 2 > N
> L

Number of children = ?'\

:‘2-:"' .._.
i -

% e\
Each of them will have | ' balloons.

™
o

(b) Mohit had 45 strawberries. He divided them into 5 equal packs to share with
friends. How many strawberries did each of his friend get? 'f

Total number of strawberries = @
_ -!
Number of equal packs = A ) U~
g /-m'- =
| L l [ aly : | f -
@ & 49
Each friend got | 7 | strawberries. ¢
G -



